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Introduction
In RAN4#97, the RRM tests for CSI-RS measurement are discussed, and the outcomes are captured in [1]. There are several issues to be further discussed:
· Whether to introduce test case for FDD mode
· The values of DRX cycle
In addition, we are proposing to define two sets of accuracy requirements for different timing error condition. As a result, the corresponding testing aspect also needs to be discussed.
In this paper we will provide our views on the remaining issues in CSI-RS RRM test cases.  
Discussion
Whether to introduce test case for FDD mode
	· Option 1: No (MTK, Xiaomi, CATT, Qualcomm, OPPO, vivo)
· Option 2: Yes (Huawei, Nokia, ZTE)


The existing RRM test cases are defined in such a way that both FDD and TDD can be tested with a single test case (this is reflected in the supported test configurations), and we could follow the same approach. 
In RAN4#97, some companies raised the concern that the synchronization assumption as used to define CSI-RS accuracy requirements may not be realistic for FDD. In our view, the synchronization in the test case should be aligned with the side condition for the accuracy requirements, for both FDD and TDD. Therefore, the sync assumption for FDD cannot be 3ms but should be same as for TDD. 
It is noted that FDD NW is not necessarily asynchronous, but it can also be synchronous. In particular for NR, when >5ms SSB periodicity is used, NW has to be somehow synchronous, no matter it’s FDD or TDD. 
Proposal 1: Introduce CSI-RS test cases also for FDD.
The values of DRX cycle
	· The values of DRX cycle
· Option 1: 40ms for FR1, 320ms for FR2
· Option 2: 40ms for FR1, 640ms for FR2
· Option 3: Others.


We suggest to use 320ms DRX cycle for FR2 DRX test cases. On one hand, this can reduce the test time; on the other hand, if UE can pass the test with 320ms DRX cycle, it is very unlikely to fail a test with 640ms DRX cycle, since the requirements for 320ms is tighter in absolute time.
Proposal 2: Use 320ms DRX cycle for FR2 DRX test cases.
Test for two timing error conditions
In our companion papers [2-3], we propose to define two sets of accuracy requirements for different side conditions on timing errors. If this is agreeable, RAN4 needs to discuss how to test the two sets.
For the accuracy test, there are 12 TCs, and for each of them, there are two test cases defined, one for intra-frequency and one for inter-frequency. 
· For intra-frequency, the serving cell and the neighbor cell are on the same frequency layer. We suggest to set the timing offset between the two cells based on Case 2 side condition (larger timing error). The serving cell measurement should meet the Case 1 requirements (small timing error) since there is no timing error. The neighbor cell measurement should meet the Case 2 requirements.
· For inter-frequency, since the serving cell and the neighbor cell are on different frequency layers, the timing offset between the two cells does not matter, and we suggest to set it to 3us. UE should meet Case 1 requirements for both cells.
Proposal 3: The timing offset between the serving and neighbour cell for the accuracy TCs are defined as follows.
· intra-frequency: based on Case 2 side condition. The serving cell measurement should meet the Case 1 and the neighbor cell measurement should meet the Case 2 requirements
· inter-frequency: 3us. Both the serving cell measurement and the neighbor cell measurement should meet the Case 1 requirements
Conclusions
In this paper we provided our views on the remaining issues in CSI-RS RRM test cases.  
Proposal 1: Introduce CSI-RS test cases also for FDD.
Proposal 2: Use 320ms DRX cycle for FR2 DRX test cases.
Proposal 3: The timing offset between the serving and neighbour cell for the accuracy TCs are defined as follows.
· intra-frequency: based on Case 2 side condition. The serving cell measurement should meet the Case 1 and the neighbor cell measurement should meet the Case 2 requirements
· inter-frequency: 3us. Both the serving cell measurement and the neighbor cell measurement should meet the Case 1 requirements
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